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1 EERE 3 |Ezx— (BOA > F) 1

2 BERE 3 |E=Zx—5H 1

I BERE 3 | TU&r— 1 400 150 400

LBERE 3 ETATYE 1

5 BERE 3 |DVDLa—4X— 1

6| BERE 3B |BR—L 72

TEBERE 3Rk | Rl 1 1,000 700 700

BIRIBERE 3 |E=&— (504 »F) 1

I REERE 3 |EZ&x—%H 1
10 BEERE 3B |BR—L 20
111\B= 3k L 1 400 700 700
12/B=% 3B |EERLT 1
13|B% 3 | BXRO Y H— 1 450 500 1,800
141B% 3B |BR—L 10
15| A E¢ 3B AL 1 1,400 700 700
16|AEp 3B | AL 4 1,000 700 700
17|ARE 3fE ARG 5
18|AEp 3 | TrAUrTErER Y FAL 2 400 600 1,350
19| AEB 3B NIy RREVE 1 700 50 1,400
20| AEB 3 TV a— 1 500 300 450
21| AEB 3 |FAX 1 400 300 400
22| AEB 3 val v i— 1 500 500 900
23| AEB 3 |E=Z&— (194 > F) 1
24|\ AEB 3fE | AEE (2054) 1 600 600 1,600
25| AEB 3B EBERXZXVF 1 300 300 1,000
26| AEB 3 |BAR—IL 560
27| 8E=E 3B | REAN T ER) 1 1,800 600/ 700/100
28| EE 3B |E=Z&— (554 >~ F) 1
29| 3= 3 E-x—5H 1
30| 2EFE 3fE | ERIES 2 300 300 1,000
31 == 3 A—LRTY— 1 1,700 100 100
R\ =EE 3B | RTA FR—F 1 1,300 100 1,750
33| eEE 3 |BAR—IL 50
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34 FRE 3 |F;ILT 1 700 300 500
35 ERE 3k |F;ILT 1 600 400 500
36 ERE 3By |RERAN Y EH) 1 1,800 600/ 700/100
37 ERE 3 |BRE 1 500 750 200
38 BERE 3 |BRE 1 600 900 200
9 NE 3 | TU&E— 1 350 200 400
40| 0= 3FE | HERIT Y B 1 300 300 400
41| H=E 3fE  |ERAE—IL 100
42| —R—F 3fE BRI 50
43| BE 1R |BRA—L 300
44258 P |/ —bsXyav 50
45 AR &R 3P [NV EZLX— 13




